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Lösungen WS 2001/2002: 
 
1. Aufgabe: 
1.1 Uqe = 12V,  Rie = 150 Ω  
1.2 imax = 80 mA 
1.3 sμτ 300=  
1.4 UCmax = 12V 
1.5 t = 39,16ms 
 
2. Aufgabe: 
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2.2 FC μ106= , Pmax = 1322,5 W 
2.3 S = 1247 VA, P = 1176 W, Q = 414 var 
 
3. Aufgabe: 

3.1 Rm = 
H
11038,2 7⋅  

3.2 B = 79 mT  
3.3 N = 889 
3.4 L = 16,6 mH 
 
4. Aufgabe: 
4.1 S = 1732 VA 
4.2 77,0=η  
4.3 Pv = 4 W 
4.4 Pvmin = 2,26 W 
 
 
Lösungen SS 2002: 
 
1. Aufgabe: 
1.1   P = 1662,8 W, Q = 1247,1 var, S = 2078,5 VA 
1.2   Pges = 1662,8 W, Qges = 0, Sges = 1662,8 VA 
1.3   Iges = 2,4 A 
1.4   PV  = 6,9 W 
 
2. Aufgabe: 
2.1   135,0=τ s 
2.2   t1 = 0,187 s 
2.3   We1  = 0,7776 J 
2.4   FC μ9002 =  
2.5   We2  = 0,5832 J 
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3. Aufgabe: 
3.3  PK = PL = 0 
3.5   U0  = 6 V, Ri  = 0,866 Ω  
3.6   RV  = 0,866 Ω  
3.7   P = 10,39 W 
3.8   Anpassung 
 
4. Aufgabe: 

4.1   RmFe = 
H
11036,0 6⋅ , RmL = 

H
11096,7 6⋅ , Rmges = 

H
11064,16 6⋅  

4.4   VsLE
61001,6 −⋅=Φ=Φ  

4.5   BE = BL = 0,06 T 
4.6   U= 0,12 V 
 
Lösungen WS 2002/2003: 
 
1. Aufgabe: 
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1.2   Uqers =  4 V, Riers = 6,67 Ω , Ia = 0,34 A 
1.3   75,0=α Ω  
1.4   R2 = 6,67 Ω  
 
2. Aufgabe: 
2.1   Imax = 1 A 
2.2   398=rμ  

2.3   Rm = 
H
1106 , L = 1 H 

2.4    Wm  = 0,453 J 
2.5   20max =t ms 
 
 
3. Aufgabe: 
3.1   200=Z Ω  
3.2   75,1=I A 
3.3   5,871 =U V, 5,262=CU V, 75,13 ⋅= jI A, ( )75,175,12 ⋅−= jI A, 
        ( )25,13125,1312 ⋅−= jU V, ( )25,13125,131 ⋅+= jU L V 
3.4   S = 612,5 VA, P = 612,5 W, Q = 0 
 
4. Aufgabe: 
4.1   I12 = I23 = I31 = 62,5 A 
4.2   I1 = I2 = I3 = 108,25 A 
4.3   cos ϕ = 0,781 
4.4   S = 75 kVA, P = 58,6 kW, Q = 46,9 kvar 
4.5   S = 37,7 kVA, P = 29,444 kW, Q = 23,55 kvar 
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Lösungen SS 2003: 
 
1. Aufgabe: 
1.2   r1 = 6 cm 

1.3   Rm1 = Rm2 = 
H
110036,7 4⋅  

1.4   L = 71 mH 
1.5   FH  = 568,5 N 
1.6   Wm = 0,567 Nm 
 
2. Aufgabe: 
2.1.1   R = 2000 Ω , L = 0,64 H 
2.1.2   IR = 0,055 A, IL = 0,55 A 
2.1.3   ϕ= 84,3° 
2.2   IC1 = 0,225 A, IC2 = 0,518 A 
2.3.2   C = C1:  I = 0,232 A ϕ = 76,3° 
           C = C2:  I = 0,063 A ϕ = 29,4° 
 
3. Aufgabe: 
3.1   RL = 10,44 Ω  
3.2   UAB  = 8,4 V 
3.3   I1 =  0,8 A,   I2 = 0,444 A, I3 = 0,356 A 
3.4   U0  = 13,86 V, Ri  = 0,66 Ω  
 
4. Aufgabe: 
 
4.2 P = 6,4 kW, Q = 4,8 kvar 
4.3 =ΔI  6,67 A, I = 11,55 A 
4.4 °⋅⋅= 9,3697,59 jeZ Ω  
4.5 86,0=η  
4.6 C = 96,3 μ F 
 
Lösungen WS 2003/2004: 
 
1. Aufgabe: 
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1.4   Vs51039,2 −⋅=Φ  
1.5   F = 1,136 N 
1.6   e2  = 5,25 m 
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2. Aufgabe: 
2.4 ZM  = 89,44 Ω , Zges  = 200 Ω  
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2.4 CZX MM ⋅⋅= ω2  
2.5   Ω=Ω= 40     80 MM RX  
 
3. Aufgabe: 
3.1 Pmech1 = 4,8 kW 
3.2 P = 6 kW, Q = 8 kvar, °⋅⋅= 13,5348 j

M eZ Ω  
3.3 FCk μ05,53=  
3.4 SgesY  =5,71 kVA 
 
4. Aufgabe: 
4.1 C0 = 1,44 nC 
4.2 U0 = 1,2 cm 
4.3 A=0,163 m² 
4.4 4=rε  
 
 
Lösungen SS 2004: 
 
1. Aufgabe: 
1.1 RL1 = RL2 =5 Ω  
1.2 RZul = 2 Ω , 7,16=l m 
1.3 Ri = 4,5 Ω  
1.4 U1 = 18 V 
1.5 U0 = 36 V 
1.6 S = 6,7 A/mm² 
 
2. Aufgabe: 

2.2   Rm1 = Rm2 = 
H
110326,1 6⋅ , Rm3 = 

H
110631,6 5⋅ , Rmges =  

H
110768,1 6⋅ , 

2.3   I=0,71 A 
2.4   Vs5

2 103/4 −⋅=Φ , Vs5
3 103/8 −⋅=Φ  

2.5   d = 2,09 mm 
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3. Aufgabe: 
3.2 R = 20 Ω  
3.3 5=τ ms 
3.4 L = 0,1 H 
3.6.1   i = 0,7 A 
3.6.2   u2R = 28 V 
3.6.3   uL = - 28 V 
3.7   21 ττ =  
 
 
4. Aufgabe: 
4.1 ( )541381 ⋅+= jZ Ω , ( )30301 ⋅−= jZ Ω  
4.2 2,015,0 ⋅−= jUU qkl Ω  
4.3 ( )43 ⋅−= jU kl V, 5=klU , ϕ = -53,13° 
4.4 I = 117,85 mA 
4.5 S = 2,347 VA, P = 2,33 W, Q = 0,33 var 
4.6 QL = 0,75 var, QC = -0,4167 var, 
 
Lösungen WS 2004/2005: 
 
1. Aufgabe: 
1.1 U01 = 6 V, Ri1 = 300 Ω , I01 = 20 mA 
1.2 U02 = 12 V, Ri2 = 600 Ω , I02 = 20 mA 
1.3  U0g = 8 V, Rig = 200 Ω , I0g = 40 mA 
1.4  Raopt = 200 Ω  
1.5 Pamax = 80 mW 
 
2. Aufgabe: 
2.1 C = 9,95 μ F 
2.2 P = 1kW, Q = -0,75 kvar, S = 1,25 kVA 
2.3 cos ϕ = 0,97 
2.4 ISt = 1,81 A 
2.5  ϕSt = 36,87° (Spannung eilt voraus) 
 
 
3. Aufgabe: 
3.1 76,268,3 ⋅−= jI A, ϕges = 36,87° 
3.2 ( )55151 ⋅+= jZ Ω  
3.4 U1 = 206,98 + j 160,96)V 
3.5 I1 = 1,53 A 
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4. Aufgabe: 

4.1   Rm1  = 
H
11096,7 4⋅ , Rm2 = 

H
11099,1 4⋅  

4.2 mVs   58,11=Φ , B1 = 1,159 T, B2 = 0,29 T, 
4.3 Fres = 3994,35 N 
4.4 Wm = 6,66 J 
 
 
Lösungen SS 2005: 
 
1. Aufgabe: 
1.1 Rges = 100 MΩ  
1.2 R1 = 1 MΩ , R2 = 99 MΩ  
1.3 U = 91,08 V 
1.4 P = 1 W 
1.5 R2’= 1,11 MΩ , RZ = 110 kΩ  
 
 
2. Aufgabe: 
2.1 gleichsinnig 

2.4   RME = 
H
11037,119 3⋅ , RML = 

H
11083,596 3⋅ , RMges = 

H
1103,131 4⋅  

2.5   Vs61097,456 −⋅=Φ  
2.6  BE = BL = 1,14 T 
2.7 wird kleiner im Vergleich zu BE  (Querschnitt ist größer) 
2.8 F = 413,68 N 
2.9 F wird kleiner 
 
3. Aufgabe: 
3.1 ( )4020 ⋅−= jZ x Ω ,  Cx = 25 μ F 
3.2 .2  )6060( ⋅−= jI mA 
3.2.3 ( )33 ⋅−= jU Ze V 
3.2.4 )9030(1 ⋅−−= jI mA 
 
4. Aufgabe: 
4.1 S = 10733,46 VA, P = 4800 W, Q = 9600 var 
4.2  I1 = 15,48 A 
4.3.2 I1 ’= 6,93 A 
4.4.1 P’Ltg = 144,07 W 
4.4.2 PLtg = 718,9 W 
4.4.3 80% 
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Lösungen WS 2005/2006: 
 
1. Aufgabe: 
 
1.1 R²=L/C 
1.2 C = 1μ F,    L=10mH 
1.4 WL=50μ J, WC=50μ J 
1.5 uL = -10V 
 
2. Aufgabe: 
2.1   Ri,ers = 9,47 Ω   
2.2   U0,ers =  3,79 V 
2.3   Leerlauf: I1 = 210,5 mA, I4 = 126,3 mA,   
        Kurzschluß: I1 = 400 mA, I4 = 0 mA,   
2.4 Leerlauf: PR2 = 177,24 mW,  Kurzschluß: PR2 = 0 
2.5.1   Ra = Ri,ers = 9,47 Ω  
2.5.2   Pa,max = 379 mW 
 
3. Aufgabe: 
 
3.1  Zges = (5-j5) Ω , R = 5 Ω , L = 31,83 mH 
3.2  UR =  (115+j115)V     UC = (345 – j345) V 
3.3  S = 7481, 19 VA, P = 5290 W, Q = -5290 var; 
3.4  f = 61,24 Hz 
3.5  I = 46 A 
 
4. Aufgabe: 
 

4.1 RmLi = 
H
1105 6⋅ , RmLa = 

H
11010 6⋅ , 

4.2 Bi = Ba, 

4.3 Rme = 
H
11015 6⋅ , 

4.4 B = 0,125 T, Vs5105 −⋅=Φ  
4.5 I = 3 A 
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Lösungen SS 2006: 
 
1. Aufgabe: 
 
1.1 Ri = 1,25 Ω  
1.2 Uqe = 3 V, Rie = 1,25 Ω   
1.3 R = 12,5 Ω  
1.4 N = 10, Pmax = 1,8W, 5,0=η  
 1.5 Rs = 1,25 Ω , 833.0=η  
 
2. Aufgabe: 
 
2.2 VsM    104,2 4−⋅=Φ  
2.3 AM = 2 cm² 
2.5 VsRmM A/   104 5⋅= , VsRmA A/   106= , VsRmL A/   102,1 6⋅=  
2.6 VsRmges A/   1032,0 6⋅= , N = 768 
2.7 F = 57,6 N 
 
 
3. Aufgabe: 
 
3.1 Yges = (7,7 + j 61,5) mS 
3.2 U = 16,1 V °⋅− 9,82je , °−= 9,82UIqϕ  

3.3 
s
16000 =ω , WP 500 =  

 
 
4. Aufgabe: 
 
4.1  Pges = 19 kW, Qges = 28,97 kvar, Sges = 34,64 kVA 
4.2  I1 = 50,2 A 
4.3 FCY μ  66,440=  
4.4 %83,93=λ  
4.5 I1’= 29,35 A 
4.6 65,82% 
 
 
 


